Jﬂu'v‘i't <

K+

HEBE HEE H

REFRE+ZBIIT
89116 8 £5810082 H3
24 NEHEEHRE 96060

2025.1.3

28H SHHE16MK

MR X e e gy
B | LA

E =

5 ‘

00015" >

RUERSENLZ4

=504

=Y

miIRERE R KR

——

{R¥E

-

~ETHIERER

ﬂim.‘Nﬁit'

® FIET{FB3MEit&E
FET{EE: 365K-104K ((RBR) 13K (AEHRA)
STIER: 248K +4F=62K/F
BIfER: 248X+128=20.67X/R
TYENTEM0HE: LA, Z. ENTIERRIUSHE NS/

=248XK

O HIXE., NHIERE
BI®: BIBEWA-BItEHXRE
N T2 BTEWA (Bit#XEx<8/\09)
BitEFHXE: (365%-104K) +128=21.75K%
BREHENE, FEBRARARMNSEEZITTE, B
BHI®E. NNITEEAZRERNENIIREEHRE

11 RIEIR

HEEZE.

NERZ &%

St AR m, LA R

713K

KA HE
B S2IE

INNEFBIE
T EIEE

TEHRIBSL

EFL8% EF%‘:F*E‘B?%% ﬁﬂlu
@IFBIX,2025 E%@Xﬂ%#ﬁﬁééﬁz —H=

#IR1TEH , BRI

BIMEEDL—F

RIN, #p22. A Z 0

E£16 AT, X1t EEEFRKF

&d

BE Z2REBE1TC~11TC
HE BESs -2C~9C

M 2= 1CT~1T
ik ZREE 0C~9°C

x5 ZREBE1C~1T
i ZREERE -1C~11C

Ml 2REWE2C~1T
= ZREE 0'C~10C

#®M Z2=5E -5C~8C
$EIT ZREIBE 0C~11C

EziE FEZ s -3C~8T
miE ZREE1C~10C

EiE BEIZ= -3C~9C
D BEES 2C~12°C




